=
ol
HO
J
HE
EIJ
o0
5
=
o0
5
u
or




= X}

o o
N
> b
WS
U o

B

O O
B W
D
M
=
|> oV
02 o
S~
¥
JE

6.5 HE|Z 2 Al
6.6 C4=0| 2=AIX} A2




o 27 = M(socket options)
ZHOo| 7|2 EXS H A
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#include <sys/types.h>
#include <sys/socket.h>

int setsockopt(int s, int level, int opt, const char *optval, int optlen);
int getsockopt(int s, int level, int opt, const char *optval, int *len);

e s AAAHS
level : T2 EZ ¢yt
+ SOL_SOCKET: 2 Zllo| 2lHtX ol 2 HA4
« IPPROTO_IP:IP T2 EZ0| 2t S M HY
» |PPROTO_TCP: TCPOf| 25t S M HH
opt : AFE SO} S S A
optval : &8 X[H0| 223t 2f2| ZIH
optlen : optval®| 37|




Socket Option Layer

* level
 SOL_SOCKET
- T EFZOFFE0E A2 O KA
* [PPROTO_TCP
© TCPO|| 2tHEl S
« IPPROTO_IP
« IPO| A= FM




SOL_SOCKET

* Option name
* SO_BROADCAST: Bt &3 HA|X| F& 5|8
« SO_DEBUG: DEBUG 2 E £ A EH
* SO_REUSEADDR: =4 XAl MEH
* SO _LINGER
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* SO_KEEPALIVE: TCP2| keep-alive =&} A EH

- SO _OOBINLINE: 0OB |O|E{ 2 I H|O|E{ X3 oS
- SO_RCVBUF: 2=AlB{THO| 37| HA

- SO_SNDBUF: & AIH{IHO| 37| B




A7 M Off A
Socket L{ & buffer H-4 (1)

* TCP, UDP= SAH It =4I IHE 74
* TCP2| B2 write() 2= A| H|O|H & &4 HIHE A
* HIO|H7F SAH IO 25 SAFE[H A|AH
« M& HO|H= FX[5t RULCE7FACKE =4l = AHA
¢ SABEI} IS K write() = 22 &
© SA/FAHEH| 37| BRI RIHE & S
- SO_SNDBUF
- Al IO 37| &l A X| A
- SO_RCVBUF
- Al IO 37| &l A XA
o EAl/AA HIHO| 37| K| & e
- 44 274(3-way handshake) 20| = HI{ 37| HZO0| =7}
© MH2| 4% listen() == O[O 278
- SC|O|HEQ| ZF connect() 2= OO 27
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270 =M O A
Socket L & buffer H-Z4 (2)

int optval;

int optlen = sizeof (optval);
if (getsockopt (listen sock, SOL_SOCKET, SO RCVBUF,
(char *)&optval, &optlen) == SOCKET ERROR)
err quit ("getsockopt()");

printf ("$4Al ¥# 3I7] = 3d HOJE\n", optval);

optval = 2;
i1f (setsockopt (listen sock, SOL SOCKET, SO RCVBUF,

(char *)&optval, sizeof (optval)) == SOCKET ERROR)
err quit ("setsockopt()");
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SO_REUSEADDR €M (1)
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SO_REUSEADDR &M (2)

serv_sock=socket (PF_INET, SOCK STREAM, O0);
optlen = sizeof (option);

option = TRUE; // #define TRUE 1

setsockopt (serv_sock, SOL SOCKET, SO REUSEADDR,

&option, sizeof (option));




[PPROTO_IP

P TTL

* Time To Live HZ4

IP_MULTICAST _TTL

« HE|FHAE H|O|E{ = TTL HE
IP_ADD_MEMBERSHIP

- BE[ZHAE OIF0| 7t
IP_DROP_MEMBERSHIP

- HE[FHAE D E0AM HE]

IP_MULTICAST _LOOP

- HE|Z7|AE H|O|E{ 128 9| loopback | & O &
IP_MULTICAST IF
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I[IPPROTO_TCP

* TCP_KEEPALIVE

* keep-alive 22l A X| M& Al ZH K™
* TCP_MAXSEG

. TCPO| MSSS(Z|CH | A| K| 27]) X|
* TCP_NODELAY

* Nagle &1 2|=9| AMEH




